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Figure S1. 13C NMR spectrum of monomer M1.

Figure S2. 13C NMR spectrum of monomer M2.
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Figure S3. 1H NMR spectrum of monomer M3.

Figure S4. 13C NMR spectrum of monomer M3.
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Figure S5. HRMS data of monomer M1.
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Figure S6. HRMS data of monomer M2.
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Figure S7. HRMS data of monomer M3.
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Figure S8. 13C NMR spectrum of polyester P1a.

Figure S9. 13C NMR spectrum of polyester P1b.
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Figure S10. 13C NMR spectrum of polyester P1c.

Figure S11. 13C NMR spectrum of polyester P2a.
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Figure S12. 13C NMR spectrum of polyester P2b.

Figure S13. 13C NMR spectrum of polyester P2c.
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Calculation of the monomer recovery yields: 

Diester monomer (r-M2): 

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. =
𝑊𝑡. 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑜𝑙𝑦𝑚𝑒𝑟

𝑀𝑊 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑒𝑝𝑒𝑎𝑡𝑖𝑛𝑔 𝑢𝑛𝑖𝑡
 𝑥 𝑀𝑊 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 𝑀2

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. =
4.0

374.39
 𝑥 320.3

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. = 3.42 𝑔𝑚

𝑌𝑖𝑒𝑙𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 𝑀2 =
𝑊𝑡. 𝑜𝑓 𝑟 ‒ 𝑀2

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. 𝑜𝑓 𝑟 ‒ 𝑀2
 𝑥 100 

𝑌𝑖𝑒𝑙𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 𝑀2 =
2.53
3.42

 𝑥 100 

𝑌𝑖𝑒𝑙𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 𝑀2 = 74%

Diol monomer (r-1,6-HD):

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. =
𝑊𝑡. 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑜𝑙𝑦𝑚𝑒𝑟

𝑀𝑊 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑒𝑝𝑒𝑎𝑡𝑖𝑛𝑔 𝑢𝑛𝑖𝑡
 𝑥 𝑀𝑊 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 1,6 ‒ 𝐻𝐷 

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. =
4.0

374.39
 𝑥 118.18

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. = 1.26 𝑔𝑚

𝑌𝑖𝑒𝑙𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 1,6 ‒ 𝐻𝐷 =
𝑊𝑡. 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 1,6 ‒ 𝐻𝐷

𝑇ℎ𝑒𝑜𝑟𝑒𝑡𝑖𝑐𝑎𝑙 𝑤𝑡. 𝑜𝑓 𝑟 ‒ 1,6 ‒ 𝐻𝐷
 𝑥 100 

𝑌𝑖𝑒𝑙𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 1,6 ‒ 𝐻𝐷 =
0.91
1.26

 𝑥 100

𝑌𝑖𝑒𝑙𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑟 ‒ 1,6 ‒ 𝐻𝐷 = 72%


